1.

a=3 b=-2 9 ab- < 9 & Fsfelet,

S EER
c



H7]
@ a © 3x+b © -3
® 5a+5 @ x2-1

DAOe,0 @60,0 0,60 ®o6e 66,0




® 7000z, z

@ 3xy, -y

® 1, 2

@ -5x, 8x



4.

2x+y+z B Al 7152 Aekstel Lhehyw?

2x 2X
D 2xyz @ 2 ® = @ —
2x 4



5. Zt=sbx, AEsty A AR Holg BAAOR

ofe}.

——.
\
T TY
1
14 0
~ - - I- _ - -



o= e

A& 3km=E x A

ofet.

6.

km



= % a+b o gol i shue?

1
® 2x+1)x2=ax+b @ —g(—12x—6):ax+b
1 1
® (6x+6)x§:ax+b @ (—x—|—3)+§:bx+a

® Ax+1)x2=bx-a



ret

8. A=a+2b, B=3a-b2 U, A+3BZaq bE AE5I

oz g7 tehd A

o /!
kl
I
%

@D -a+5b @ 4a+b ® 6a+ 5b

@ 10a-b ® 10a + 5b



9.

ol

o A

tlo

Zrers] she?

6x— {7y —5x— (3x—8x+T7y)}

@ 6x @ 6x—-4
@ 1 B x




10. o= thdAo] x off et LA w, Aol A4 F-stofzt.

2
—4x2+ax—5+gx2+< X

a
2

@D 6 ® 12 ® 24 @ 36 B 48



